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k-3 %F (k-Nearest Neighbor, KNN) 8.y & — Ff & B9 o3 sl ol 57k . 4@ — 1l
GREARESR D VIR —A75 AT IO B AEAS 2, k-3 40 5 1k 0 AR AR B W R X T 2k
B k- AR SATE NPT I ARG TR BN o T M b DFEA SR 5 8 45 L B X £
ASFEA R B B 2 B 2R BIE R o W TR0 25 2 5 X [l U [ 28, -3 4B 50k TR AR 4R 31 5
x BRIk DREA L IRIG XX b DFEAR AR A RO B A3 8] o BB ES R, kR4
R Ik 3-1 fros.

Bi%3-1 k-EBEE

Eﬁ)\: -U”é;ﬁ% D:{(xl sV ) ’(x2 ’yg) [ ’(xm Vo )i ok {ﬁ§ f#ﬁifmwizlily ﬁ[]%% k-
iﬁgﬁﬁivlﬁlﬁq‘gﬁ&%%uﬁﬁ C:{C'l sCo 9 sCk }

B FEAR o TR Y 2 B s A y

1. W8 = 5SFAINGES A RARZ R E, I W /NBIKHET 3R BT & A R 5

P =argsort{d(x,x;) | i = 1,2, ,m}

2. X F o2 in B, B S PR EE AT & AR AR A 1 R R 2 2

Return y =AargmaxK2 I(xp =c;)
i=1.2,+.K,cp
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R cp
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IR ELIAEREENE
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ACBUIE AE 33X B 5 FH A6 22 5 B RN AL 3% 5 B PR AN R AE AT T AL tn A 3-1 o,
2.51 ™ a "a "
2.0F : .§ E.o. :
TS o
1.0 » 003.::. ‘
05 ... [N N ] [ ]
. 05:.033:.: ...
0= 25 3.0 35 20 2.5
Bl 3-1 B RAEEE % (LR

[ i B A RN Setosa, 1 A SR R Versicolour, £f 8 84 £ /8 Virginica.
sklearn 4R AL £-IT 4B Y FR & KNeighborsClassifier, fUi% i B 3-1 45 H T A5 5 44 3

YIZRACHS
RuGiEBEER 3-1

k-iE 4B A

from sklearn. datasets import load iris

M3 1E 5 i)ll 4k

from sklearn. model selection import train test split

from sklearn. neighbors import KNeighborsClassifier as KNN

if

iris = load iris()

name__

__main

x _train, x test, y train, y test = train test split(

iris.datal :,
model = KNN()
model. fit(x_train, y_train)

[1,3]], iris.target)

PRAD T B 3-2 XF LRI R AT Tk, AR BRI S B T DA L B R AR I SR 4R Y o
RILF] 0. 964, 7E M4 LA UHERT FRIL 3 0. 947,
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RAEBEER 3-2 R

train score = model. score(x train, y train)
test score = model. score(x_test, y test)
print("train score:", train score)

¢ print("test score:", test score)
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